Lesson 2.5 Solving Literal Equations.notebook

Lesson 2.5- SWBAT solve literal equations.

Kickoff- Solve and check each of the following equations.
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Equations with several variables are called literal equations.
Your job will be to solve the equation for one of the variables, so that one variable you are solving for

stands alone. The methods used to solve these equations are the same as the methods you use to solve all

equations.

Example #1
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ax=c-b

=
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Steps

ove b
(e opposit of add s subtract

2 Move a
(e opposit of muliply i divide)

3. is what we are solving for and
it stands alone. Done.

Regular Equations
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xX= 15

2a) 4x = —12
4 %
X=-3

Literal Equations

1b) Solveforx. x—b=a

%+
X= ath

2b)Solve for k. k= m
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3a)2x—5=11 3b)Solveforb. 2b—9=4d
)5 S +49 +9
P —
2x=1b -3 b= a+9
= T(X5 Z
4a) 2 (4x) = —20 4b) Solve for g. ppg = 10 b—:AM
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5b) Solve fory. 2 =k
) Solve oryﬂ
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6a) 14 = 2x + 26

6b) Selve forv.3d = 7v +5

7a) —30 = 4 — 8x

7b) Solve for h. 7a = 10 — 2h

8a)3(x—4) = 12

8b) Solve for p. 5(4x +p) =w
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9a) Which of the following is equivalent to:
7a—8b = 10x
A a=22
7

_ (10x+8b)
7

B a

_ 10x-8b
T

C. a

9b) Which of the following is equivalent to:

4ab +k =13
13
A k:m
B k= {3
B 4
C. k=13 —4ab
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